Maths Problem Solving with Division

You will find a video for this lesson on DB Primary. You will need to watch
it to complete the tasks.
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The school cook was serving the school
dinners. She had 15 sausages left over.
There were five pupils in the line. How
many sausages could each pupil get?
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A mum bought 15 cookies and shared them between @
her three children. How many cookies does each
child get?

15

Each child gets 5 cookies each.



Task 1:

A) 10 oranges were shared equally
between two children. How many
oranges did each child get?

| 10

10 -+

B) Farmer Joe shares 20 eggs between his
two children. How many eggs does each
child get?

| 20 \

20 -+
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